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1. According to the modern theory for nature of light, the 
light has
प्रकाश की प्रकृति के आधुतिक तिद्ाांि के अिुिार, प्रकाश में है

(a) wave nature only/केवल िरांग प्रकृति
(b) particle nature only/केवल कण प्रकृति
(c) both wave and particle (dual) nature 
िरांग और कण दोिो ां (दोहरी) प्रकृति
(d) neither particle nature nor wave nature
ि िो कण प्रकृति और ि ही िरांग प्रकृति
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Answer (c); 
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2. The wavelength of visible light are 
between
दृश्य प्रकाश की िरांगदैर्घ्य ______ के बीच है

(a) 3000 μm to 0.4 µm
(b) 0.4 µm to 0.7 µm
(c) 0.7  µm to 1000 µm
(d) 0.1  µm to 30 µm 
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Answer: (b); 
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3. Velocity of light is maximum in
प्रकाश का वेग अतधकिम होिा है

(a) diamond/हीरा
(b) water/पािी
(c) glass/काांच
(d) vacuum/वैकू्यम
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Answer: (d); 
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4. In vacuum the speed of light depends upon :
तिवायि में प्रकाश की गति तिर्यर करिी है :

(a) frequency/आवृति

(b) wavelength/िरांग दैर्ध्य
(c) velocity of the source of light/प्रकाश के स्रोि का वेग

(d) none of these/इिमें िे कोई िही ां
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Answer: (d); 
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5. If V is the speed of light in vacuum and V, is the 
speed of light in given medium then the refractive 
index of medium is
यतद V तिवायि में प्रकाश की गति है और V, तदए गए मार्ध्म में
प्रकाश की गति है िो मार्ध्म का अपवियिाांक है

(a) Vm/Vc (b) Vm× Vc
(d) none of these (c) Vc / Vm
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Answer: 



Time – 5:45 pmY431
SCIENCE BY NIHARIKA RATHORE

USE CODE FOR 77% DISCOUNT   

6. A ray of light travelling obliquely from denser to 
rarer medium
प्रकाश की एक तकरण िघि िे तवरल मार्ध्म की ओर तिरछी यात्रा

करिी है

(a) bends towards the normal/िामान्य की ओर झुकिा है

(b) bends away from the normal/िामान्य िे दूर झुकिा है

(c) does deviate from its path/अपिे पथ िे र्टक जािा है

(d) none of these/इिमें िे कोई िही ां
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Answer: 
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7. The laws of reflection are true for 
परावियि के तियम ित्य हैं

(a) the plane mirror only/केवल िमिल दपयण
(b) the concave mirror only/केवल अविल दपयण
(c) the convex mirror only/केवल उिल दपयण
(d) all reflecting surfaces/िर्ी प्रतितबांतबि ििह
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Answer: (d); 
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8. The focal length of a plane mirror is 
िमिल दपयण की फोकि दूरी होिी है

(a) positive/िकारात्मक
(b) negative/िकारात्मक
(c) zero/शून्य
(d) infinity/अिांििा
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Answer: (d); 
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9. A ray of light incident on a plane mirror at angle 
0°. If the angle between the incident and reflected 
rays is 80°, what is the value of θ
एक िमिल दपयण पर कोण 0° पर आपतिि प्रकाश की तकरण। यतद

आपतििऔर परावतियि तकरणो ां के बीच का कोण 80° है, िो θ का
माि क्या होगा?

(a) 40° (b) 50°
(c) 45º (d) 55º
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Answer: 
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10. If a ray of light incident on a plane mirror is such 
that it makes an angle of 30% with the mirror, then 
the angle of reflection is
यतद िमिल दपयण पर आपतिि प्रकाश की तकरण इि प्रकार है तक

वह दपयण िे 30% का कोण बिािी है, िो परावियि कोण है

(a) 30° (b) 45º
(c) 55° (d) 60º
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11. A boy is standing infront of a plane mirror at a 
distance of 3 m from it. What is the distance 
between the boy and his image
एक लड़का िमिल दपयण के िामिे उििे 3 मीटर की दूरी पर खड़ा
है। लड़के और उिकी छतव के बीच की दूरी तकििी है

(a) 3 m (b) 6 m
(c) 4.5 m (d) none
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12. The amount of light reflected depends upon
परावतियि प्रकाश की मात्रा तिर्यर करिी है

(a) the nature of material of the object 
वसु्त की िामग्री की प्रकृति

(b) the nature of the surfaceििह की प्रकृति
(c) the smoothness of the surfaceििह की तचकिाई
(d) all the above are correctउपरोक्त िर्ी िही हैं
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Answer:  (d); 
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13. An observer moves towards a plane mirror with 
a speed of 2 m/s. The speed of the image with 
respect to the observer is
एक पे्रक्षक एक िमिल दपयण की ओर 2 m/s की चाल िे गति
करिा है। पे्रक्षक के िांबांध में छतव की गति है

(a) 1 m/s (b) 2 m/s 
(c) 4 m/s (d) 8 m/s



Time – 5:45 pmY431
SCIENCE BY NIHARIKA RATHORE

USE CODE FOR 77% DISCOUNT   

Answer: 
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14. A plane mirror reflects a beam of light to form a 
real image. The incident beam isएक िमिल दपयण

वास्ततवक प्रतितबम्ब बिािे के तलए प्रकाश पुांज को परावतियि करिा

है। आपतिि बीम है

(a) parallel/िमािाांिर
(b) convergent/िांतमतलि
(c) divergent/तवतर्न्न
(d) any one of the above/उपरोक्त में िे कोई एक
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Answer:  (b); 
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15. A man of height 1.4 m wishes to see his full image in a 
plane mirror placed at distance of 2 m. The minimum 
height of the mirror should be
1.4 मीटर ऊां चाई का एक व्यक्तक्त 2 मीटर की दूरी पर रखे एक िमिल दपयण

में अपिा पूरा प्रतितबम्ब देखिा चाहिा है। दपयण की नू्यििम ऊां चाई होिी

चातहए

(a) 0.5 m (b) 0.7 m
(c) 0.9 m (d) none
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Answer: 
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16. A toy is placed between two plane mirror 
inclined at angle of 60º. The number of 
images formed is
60º के कोण पर झुके हुए दो िमिल दपयणो ां के बीच एक

क्तखलौिा रखा गया है। बििे वाली छतवयो ां की िांख्या है

(a) 5 (b) 6
(c) 4 (d) 3
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Answer: 
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17. An object is placed between two parallel 
mirrors. The number of images formed is
एक वसु्त को दो िमािाांिर दपयणो ां के बीच रखा जािा है।

बििे वाली छतवयो ां की िांख्या है

(a) 4 (b) 6
(c) 8 (d) infinity
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Answer:  (d); 
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Q18. Two plane mirrors are placed perpendicular to each. other. 
A ray strikes one mirror and after reflection falls on the second 
mirror. The ray after reflection from the second mirror will be
दो िमिल दपयणो ां को प्रते्यक के लांबवि रखा गया है। अन्य। एक तकरण एक दपयण िे

टकरािी है और परावियि के बाद दूिरे दपयण पर पड़िी है। दूिरे दपयण िे परावियि

के बाद की तकरण होगी

(a) perpendicular to the original ray/मूल तकरण के लांबवि

(b) parallel to the original ray/मूल तकरण के िमािाांिर

(c) at 45 degrees to the original ray/मूल तकरण िे 45 तिग्री पर
(d) none of these/इिमें िे कोई िही ां
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Answer: 
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19. Two plane mirrors are inclined at a certain angle. A ray 
parallel to the second mirror after two reflections. The 
inclination between the mirror is of light coming parallel 
to one of the mirrors is rendered
दो िमिल दपयण एक तितिि कोण पर झुके होिे हैं। दो परावियि के बाद दूिरे

दपयण के िमािाांिर एक तकरण। दपयण के बीच झुकाव एक दपयण के िमािाांिर

आिे वाले प्रकाश का होिा है

(a) 60° (b) 90°
(c) 45° (d) 30°
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Answer: 
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20. Two plane mirrors are inclined at 70°. A ray 
incident on one mirror at angle 0°. After reflection, 
falls on the second mirror and is reflected from 
there parallel to the first mirror θ is 

(a) 50º
(b) 45°
(c) 30°
(d) 55°
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Answer: 
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21. A number of images of a candle flame are seen in thick 
mirror
मोटे दपयण में मोमबिी की लौ के कई प्रतितबम्ब तदखाई देिे हैं

(a) the first image is the brightest
पहली छतव िबिे चमकदार है

(b) the second image is the brightest 
दूिरी छतव िबिे चमकदार है

(c) the last image is the brightest
अांतिम छतव िबिे चमकदार है(d) all images are equally brightest 
िर्ी छतव िमाि रूप िे चमकदार हैं
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Answer: 
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22. The image of our face in a plane mirror
िमिल दपयण में हमारे चेहरे का प्रतितबम्ब

(a) real/वास्ततवक
(b) magnified/आवतधयि

(c) diminished/घटी हुई
(d) none of these/इिमें िे कोई िही ां
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Answer: 
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23. The nature of image formed by a plane mirror 
is
िमिल दपयण द्वारा बििे वाले प्रतितबम्ब की प्रकृति होिी है

(a) virtual and erect/आर्ािी और िीधा

(b) of the same size as the object
वसु्त के िमाि आकार का

(c) laterally inverted/पार्श्य रूप िे उलटा
(d) all the above are correctउपरोक्त िर्ी िही हैं
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Answer: 
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24. When a ray or light enters a glass slab from air
जब कोई तकरण या प्रकाश हवा िे काांच के सै्लब में प्रवेश करिा है

(a) its wavelength decreases इिकी िरांग दैर्ध्य घट जािी है
(b) its wavelength increasesइिकी िरांग दैर्ध्य बढ़ जािी है
(c) its frequency increases.इिकी आवृति बढ़ जािी है।

(d) neither its wavelength nor its frequency changes.
ि िो इिकी िरांग दैर्ध्य और ि ही इिकी आवृति में पररवियि होिा है।
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Answer: (a); 
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25. When light passes from one medium to another, 
the physical quantity that remains unchanged is
जब प्रकाश एक मार्ध्म िे दूिरे मार्ध्म में जािा है, िो र्ौतिक मात्रा

अपररवतियि रहिी है

(a) velocity/वेग
(b) wavelength/िरांग दैर्ध्य
(c) frequency/आवृति

(d) none/कोई र्ी िही ां
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Answer: 




